
JKESS-6U Kit Packaging List

No. Part Name Model Quantity (pcs)Specification

1 JKESS-6U JKESS-6U 1 715*420*267mm

2 Positive and negative terminals 4 Red*2 Black*2

3 Terminal rubber pad 4

4 Terminal inner screw M4*14 16

5 Terminal protection cover 4

6 Terminal front screw M8*16 4

7 Terminal rear screw M6*14 4

8 Box screws M4*10 64

9 Hanging ear screw M5*12 6

10 Pressure strip fixing screw M5*12 8

11 Battery side panel screws M5*12 12

12 Mesh board screws M3*10 4

13 Protective board fixing screws M3*16 6

14 Inlaid handle 4

15 Folding handle 2

16 Epoxy board - Yiwei battery cell 172*204mm 16 0.5mm

17 Epoxy board - bottom plate 400*700mm 1 1mm

18 Epoxy board - side panel 205*580mm 3 0.5mm

19 Epoxy board - both ends 205*350mm 2 1mm

20 Pressure strip epoxy board 2 1mm

21 DC circuit breaker 1

22 4 # Silicone wire (red) with wire nose 300mm 1

23 4 # Silicone wire (red) with wire nose 140mm 1

24 4 # Silicone Thread (Black) with Nose 250mm 1

25 Terminal connection piece 2

26 BMS connector 1

27 BMS negative terminal connector 1

28 Battery connector(vertical) 14

29 Battery connector(horizontal) 1


